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9/Final Predicted Paper 2h (Cal
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Higher Tier (1hr 50mins)

Remember: These questions are just a guide. There are no guarantees that
these questions/topics will come up! So, revise all you can before the calculator
exams!

Instructions

e Use black ink or ball-point pen.

¢ Answer all questions.

e Answer the questions in the spaces provided
— there may be more space than you need

e You must show all your working

e Calculators may be used
e Diagrams are NOT accurately drawn, unless otherwise indicated

Information

e The total mark for this paper is 100. ,
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
¢ Read each question carefully before you start to answer it.

Keep an eye on time.

o
e Try to answer every question.
e Check your answers if you have time at the end.
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1. The value of a van depreciates at the rate of 20% per year.
Gary buys a new van for £27 500
After n years the value of the van is £11 264

Find the value of n.

| u) . (%
73S0 0.1~ = W6~ <§) S
a4~ - L A=

23500
71.56

0% = Gs .
“
0.8 — X

............................... (2)
s*
2. The diagram shows two vertical posts, AB and CD, on horizontal ground.
AB=17m c CD:AB=15:1
The angle of elevation of C from “ A Ais 52°
Calculate the length of BD. 2.5 T
D B b
Give your answer correct to 3 significant figures.
. C
CD = ) g \ ’5
e . oec 0. % ST
< USS . —
3 D,
0O: %5
TSt TASC
PP =R AN E_D
AK,: ()”BS = Oy (;64’0'\/2 8(,/)
TenS2
) ‘
L0066
3. Here are two pots. T Ty
!. : 'I —— _.—:n
Pot A and pot B are Semj | Ulm ", | mathematically
similar. e o ’. ]
S T
The area of the base of pot B is Potdl “-—-" 160 cm?.
Pot B
Work out the area of the base of pot A.
2 g o
S ie W AN : R
16O + S5 = 102 X <%y
L oy > O
2S5
A T {Ye!
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7 v
The frustum is made from glass. The glass has a density of 2.5 g / cm?®

Work out the mass of the frustum.

Vol g Vol(d) - Vel (5)

<'/3 Mx&%x \S) — (%Tr x2 ¥ 3)

of

v [S2o7T
-~ -
- 1361 4,
- IETTTTTRTR o s WAURR 5
mess e SEOT o 5o 1361356813 \_) (5)

5. The diagram shows a quadrilateral JKLM.

Work out the size of angle KLM. j_fem K

Give your
answer correct to 3 significant

figures.

4.5em

k= \\ Gt + 3t

:»\jéﬁbZS

< - -
Dia (X)° 1 S
. ST ( Js?*m;) . 33.69S332u4
. = VS
3 —°
o DS 1
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6. The area of triangle ABC is 42 cm? 2
Find the length of AB. v

Give your answer correct to 3 significant figures.

l’.{fL; '/?/x RC x Fs2 30

< \
59 . Re T 1230830
Fs.17F0
AR = geTa A - 2xbex Cst0
- <2 2 —_
¢ 12.TESsEes 223 (5)

7. On a school trip the ratio of the number of teachers to the number of students is 1: 15
The ratio of the number of male students to the number of female studentsis 7 : 5

Work out what percentage of all the people on the trip are female students.
Give your answer correct to the nearest whole number.

g

\g —__S’_ - YA
TZD") =B b

175_,}\00 = 29.0625]
2

& ?\..”é/

8. (a) Show that the equation x®+ 5x—4=0 has a solution between x =0 and x = 1

03 + S(C’) Y- - b BAS ey M) ‘?NM "-‘@ s
) to E"wi’bj\;@ U Dare B o Sobtes

3 :
\ + -S_(!:) a—L}‘ ; 2 "DQ/{‘ 5 e o 'U\f'b\tﬁ

Cl\'l" \-\":‘3

(f
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(b) Show that the equation x*+ 5x—4 =0 can be arranged to give
J(/3 +S3 = U

bd xﬂ"-rS) = Y
S

JC= At+ S

(c) Starting with xo =0, use the iteration formula ‘ Xy twice, to find an
estimate for the solution of
x*+5x—4=0 . L

{ - >’
e = = L =0.X
T or +S =

= 100 _ 0.309219§38L

9. Asha and Lucy are selling pencils in a school shop.
They sell boxes of pencils and single pencils.

Asha sells 7 boxes of pencils and 22 single pencils.
Lucy sells 5 boxes of pencils and 2 single pencils.
Asha sells twice as many pencils as Lucy.

Work out how many pencils there are in a box.
q_:x; _% 22' = 2- ~>X L o ~ ". Li,

|OJ(,_\.\’\’ Bo+Z = <

(!

I +22

X ek

of

22
\§ = B @
Q =
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10. Here is the graph of y=x2-2x-4

(a) Write down estimates for the roots of x?—2x-4=0

(b) Write down the coordinates of the turning point of y=x%—-2x -4 ) S
er it Y LR ) (1)

(- -5

11. On the grid below show, by shading, the region defined by the inequalities
vl vood-x N

Mark this region with the letter R.
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12. The table shows some information about the weights of oranges.

Weight (w grams) Frequency
O<w=20 7/0
20<w=30 15
30<w=50
36
50 <w= 60 13
60 <w=< 75 15
75<w=100 10

(a) Use the histogram to complete the table.

(b) Use the table to complete the histogram.

N

@
&

Frequency

density a'

2z

—

| T

0 20 40

Weight (grams)
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13.

14.

The diagram shows two triangles, A and B.

Diagram NOT

Triangle A

The area of triangle B is 3 times the area of triangle A.

Given that b > 4, find an expression for a in terms of b.

i ’.
S(Lxmyig&}d&'«!) T /L c:u.) U.H‘é/)

3l = Y [abeast 42)

4
_6’_(_\13: Q,\"J “Z(x-}-t,\'\-/z,
o

i ) *.L) {-’2,
/?,O\A\,) - Lo

obs tar2bal

. accurately drawn
B
\
atl \
. b + 9

Triangle B

2bi)
Gz ————
b-H4
Zb+l
oM

(Total 5 marks)

Diagram NOT
accurately drawn
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P, O, R and S are points on the circumference of a circle, centre O.
APB, BOC, CRD and DSA are tangents to the circle.
ABCD is akite.



Angle PAS = 2x°
Angle QCR =y°

Find an expression in terms of x and y for the size, in degrees, of the angle POQ.
Give your expression in its simplest form.
Give reasons for your answer.

Po@= 150 --(qo*x{) - éo»g)

= V8O0 - 40 +2¢ =20 f';«é»

e JC%

15.
4 D
4 3
,. / *,
../ / ‘\.
4-(' "t,.
N P \',
Zem [/
/ ‘."’. %
s / "‘.S
| M,
o S \ T2
e .\_
N *,
5 \
k)
\
2
2 em .. '
a__._-
l 1 1
S Ji'i)

—decm—  »

In the diagram,

ABC, ACD and APD are right-angled triangles.

AB=4 cm.
BC=3cm.
CD=2cm.

Work out the length of DP.
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(Total S marks)

Diagram NOT
accurately drawn



(Total 5 marks)

*16. A is the point with coordinates (1, 3)
B is the point with coordinates (4, —1)
The straight line L goes through both 4 and B.

Is the line with equation 2y = 3x — 4 perpendicular to line L?
You must show how you got your answer.

-~V oy

S & =

)

1~ =
M, ¥ %‘“" -

\31 - % X ¥ C LS FFU'Q’:"A-:)»CWR‘-/

P\

<
=X .

$ 3 / ﬁ
is not O3 “

(Total 4 marks)
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17.

Y4
3. 5)
VA
L
\\\
N\
\\\
.'l!/ )
""’I‘ \
[
7 .. p
1," C) \ X
\

The diagram shows part of the curve with equation y = f(x).
The coordinates of the maximum point of the curve are (3, 5).
(a) Write down the coordinates of the maximum point of the curve with equation

i) y=f(x+3)
R A

(i) y=2f(x)
(ooveveeeeee e ,

(i) y=f(3x)
[
3)

The curve with equation y = f(x) is transformed to give the curve with equation y = f(x) — 4

(b) Describe the transformation.
A Cucve  Shdbs 4 ooods  down
1)

(Total 4 marks)
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18. f(x)=3x-2

10
8x) = x+2

(a) Express the inverse function f™! in the form f™!(x) = ...

“/ )
j: g)(;’c/

‘:3-\-2,: 2x
Ajj:):— =L

X AL
e T Y
)
(b) Find gf(x)
Simplify your answer.
O 1o
3 % CSL) - T - &
-2l 35X
1O

T
@)
(Total 4 marks)
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*19.

Diagram NOT
accurately drawn

)
o

0 a Aﬁbé cw;] AARE
, I = A@@ﬁg'&

ST AP A
AQ —248

ABCD is a quadrilateral.
AB, AD, BC and CD are tangents to a circle. &D DAC% _Q.,h
The tangents touch the circle at O, P, R and S respectively M = A&
AC goes through the centre of the circle. ;b/\t. g AL AO b’\Sﬁ_ C\t;
AP : PDis in the ratio 3 : 2 Q PYQ>)
AQ : OBis in the ratio 3 : 2

AL = A’L@cw{ Sna(e,
Prove that ABCD is a kite. Ag (e

SAADE < (/m\:grq-e,d" Ly AA.&Q(QAQ

_:%bRA B(;A Cron gYU@AC
=90 @gcg 557 ag’n.h’A

—>AC hen M Kl
Next, Q2 = RE (7 zw< gcwzbit%

- J )
pd 5= P (Ab=AR); pp=Ds@s & )
0\1—(/‘3 g(, 'Q C CQ 7%.‘,_ ”\Q»_{% (Total is 5 marks)
D= Dshe =BRRe =
:;—)(7 Agf/b tA B&D/SCQLL,K V\’ﬂ%\ bbc DB(’Q
W ARE = A (Shniny o)+ °f b

=% ADC = A’Eﬁ; —? A@;@ T desqq
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2
, . . . a+b) .
*20. Given that a and b are two consecutive even numbers, prove algebraically that ( j is

2
2 2
Iways 1 less than <2~ o -
always 1 less than - ‘Méja( . 'z’lff\hf 4
“+
O\l‘}‘/z.f,\_h i‘]’) |
| 55 2 !
" (z7+ (37 ettty
/ »—‘/
L a< 2 my
R _ 8nt 48 M
b-— 2:\-1.-/]/ - _L/—
) 1} (2L
a2 () Hled) e
L%/ -
q (S %AL 3+ S v ‘v{r\ N EA%\/( L{.C'\“"V\*L’ (L{/\L_‘q,,\n): ‘ |
e ez@

< ' (Total 5 marks)

21. Clive wants to estimate the number of bees in a beehive.
Clive catches 50 bees from the beehive.

He marks each bee with a dye.
He then lets the bees go.

The next day, Clive catches 40 bees from the beehive.
8 of these bees have been marked with the dye.

(1) Work out an estimate for the number of bees in the beehive.

so s
NS ()

(‘

- L0
7000 8>3

250 = X

.............................................
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(i) Write down any assumptions you have made.

(Total 4 marks)

*22.  Prove algebraically that the difference between the squares of any two consecutive integers is
equal to the sum of these two integers.

(2/;*0 Lv@n)l = Zi’n*’+qr\*\—’q/\,7”: L 4\

2a+l ¥ 2~ = B Qep

(Total 4 marks)

23. Hannah has an empty box.
She puts some créme tangerines and some nice apple tarts into the box.

The ratio of the number of créme tangerines to the number of nice apple tarts is 1 : 4
Hannah’s sister Holly takes at random 2 items from the box.

The probability that she takes 2 créme tangerines is EGE

How many créme tangerines did Hannah put into the box? 6
Lo T = —
_)&_:L T S Sy~ t£S
Sae-)
! (T < D1 . 6
= esre-s 15
Ty - 1SS = (SO x -30
A4 ] SS)(_" 1o ~
B o
S Sy~ iSC- - 30
%\\ AT
e - Sy = 125
X =25
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(Total 4 marks)

*24. Zara is the manager of a shop.
The table gives information about the expenses the shop had last year.

Expense Wages Rent Goods Other expenses ’; 5\{,%40)
Amount £92 000 £10 800 £72 000 £7000 L N
This year

the wages will increase by 7.5%,
the rent will be 74 of the rent last year,
the other expenses will halve.

Zara wants to increase the amount of money she spends on goods.
She also wants the total expenses the shop has this year to be the same as last year.

Can Zara increase the amount of money she spends on goods?

-y " c »
2 000 1,0F8 = AgA00
= o +
L% 0o X /Ot = BUOO
ﬂrﬂcﬁ, = 3Soo +
L1O&OO
—_—
IR1g0s — 110800 F1000 °
- - - o O ‘\30.

(Total 4 marks)

25. Solve the simultaneous equations:
x?+y?=18
y=5—x

Give your answer correct to 3 significant figures.
A2 NS
x?* i (S-Jj\ = 1<
AT+ 25 —lox X = 1§

23(,1’ — L0 =+ ? = O
S
s e oz fE-(p) 02 e
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(Total S marks)

26. Tony designs a game.
It costs £1.20 to play the game.

The probability of winning the game is %

The prize for each win is £2.50
150 people play the game.
Work out an estimate of the profit that Tony should expect to make.

15{)* % - L_‘,S OV n2 S

(Total 4 marks)
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ST

Diagram NOT accurately drawn
S and T are points on a circle, centre O.
PSQ and PTR are tangents to the circle.
SOR and TOQ are straight lines.

(a) Prove that triangle PQT and triangle PRS are congruent )

P = PS@ ay (twm,_m reechius

T\:’& = SPK C_%v\% M\Q‘)
57 = F5 (2t ST LeRieriquilupe | iy
b{)%\ ‘o p(,,\M'tic\——AP RS

ASA % 2 o crtfess cnd Wncludsd T

L
’A\‘Y L(\/y\& e Mé}\%r N J
< V= ’
Asif says that triangle STQ and triangle STR have equal areas. -)Jﬁl/ ’)
(b)  Explain why Asif is correct. N
Ll 7 @Mﬁl&& G S" '& =
. « “

(0]
(Total 5 marks)
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28. The diagram shows a cylinder inside a cone on a horizontal base.

The cone and the cylinder have the same vertical axis.
The base of the cylinder lies on the base of the cone.

The circumference of the top face of the cylinder touches the curved surface of the cone.

Diagram NOT
accurately drawn
12cm

I'cm 4cm

Volume of cone l7rr2h

Curved surface area of cone = nr/

The height of the cone is 12 cm and the radius or tne pase or tne cone is 4 cm.

(a) Work out the curved surface area of the cone.
Give your answer correct to 3 significant figures.

-

e
AR
o = )
=1 %

oy

(s
r
a
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The cylinder has radius 7 cm and volume ¥ ¢cm?

(b) Show that V= 12m? - 3nr°

, —_ 2 X
N V" il x( x \\Mg
L b
4 s T—r)l ( X Q?_ -35 e/)
ah
1o -
L_],L‘ = rz——/ 3
. = I 2. SivT
e S
29.
.
T A
? F3.175)
J A /lj 1.7)

The sketch shows a curve with equation
y = ka*

where k and a are constants, and a > 0
The curve passes through the points (1, 7) and (3, 175).

Calculate the value of & and the value of a.

138 ko H-oK
2. lea = e i ‘-
28 = ot a
5 =0
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30.

0 <
OAB is a triangle.
04 =a
OB =b
(a) Find AB in terms of a and b.
-—

]

-
o

—oxth

P is the point on 4B such that AP : PB=3:1

(b) Find OP in terms of a and b.
Give your answer in its simplest form.
ay -—
QP O~ t+ AP
3
v on 4, MR

-

2 Ok ‘\‘{%(-ui-g)

48

- 2,
(‘/\\.—’{{O\\V/%g

\

2
/u(aJr L/J(L

¢

= ]/LP (OL X 5&»)
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'. Diagram NOT
|3 accurately drawn
| Lt
'.
“
|
]
]
'i
A

(Total 4 marks)



31. Here are the first 4 terms of a quadratic sequence.

7 18 33 52

Find an expression, in terms of », for the nth term of the sequence. ? n‘i- ¥ SA
1 - 22 L i Jhoy. C = %
qO\ +319+ C - 35D '{'C\_* Lt C 3—76
‘ - X at byC =zt
L“C.\-\Z’L‘)"’C © \6 S
e - = 1)
Sa. + b < ‘5 L)\-A—"T'PO \\ IV R
Sath - ! 3(2) +b= M Froe= T
e O
2’:’\_ = L’\/ é ﬂ’b ; ‘ \
A c 2 b= 5 (Total 3 marks)

32. The graph shows the velocity, v metres per second, of a rocket at time ¢ seconds.

\‘L

70

60

40
30
20
10
0 ! 2 3 4 St
LIRS
Find an estimate for the rate of change of the velocity of the rocket at t =2
20 "
Ko ! l 9 l MS z
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(Total 3 marks)
33. The line L is a tangent to the circle x> + 7 = 45 at the point (=3, 6).

The line L crosses the x-axis at the point P.

Work out the coordinates of P.

Sraéu.'u\‘\ of nonv\o\\ g 3=

8(6&31_‘&,\7\ of rtr(%\-.‘!m[‘*/ > ‘/L

2 o
2 Y2 =C
IS

(\f
&
-

o\

(Total 4 marks)

Q
3
&
7
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